a’b*(a - b) + b*c(b - ¢) + ?d*(c — a) & A5l oS W, th=
Z A7t obd ALY
® a-b @ b-c ® c-a

@a—i—b—i—c ® ab+bc+ca

B

227} e | 39 SR ol B Bkl Hste] 42
Sk

A5 g Aart e A el Hela.

L (F2]) = a®b? — a?b3 + b3 - b2 + Pa? - 2aP

= (b? - ®)a® - (b® - c)a® + b?c*(b - ¢)
(b= (b+c)a® - (b* + bc + ¢*)a® + b*c?}
= (b-o){(c? —a®)b? —a*(c — a)b — a*c(c — a)}
(b-c)(c—a){(c+ a)b* - a*b—d’c}
= (b-c)(c-a){(b?®-a*)c+ab(b-a))
=(b-c)(c-a)(b-a){(b+a)c+ ab}

=—(a=b)(b-c)(c—a)(ab + bc + ca)
wjebA 9147} obd AL @olet.




2. AW A a, b, coll HotA [a, b, ¢] = (a—b)(a-c)B & i,
[a, b, c] +[b, ¢, a] + [c, a, b] =0°]®HA [a, b, ]| BF2?

@o @ 1 ® 2 @ 3 ® 4

B

(a=b)la=c)+(b-c)b—a)+ (c—a)(c=b)=0
A5t A5t a? 4+ b2 + ¢ —ab—bc—ca =0
(a=b)2+(bh-c)?+(c-a)?=0

La=b=c

“ la, b, c]=(a-b)(a-c)=0




